Challenges - Tuesday 21st April
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Mr Patel bought wood to make two shelves.
The first shelf was 2.8 m long.
And other shelf was 3.9 m long

Whatis the shortest length of wood Mr Patel has
10 buy to make the two shelves?
Circle the correct answer to the nearest metre
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7m 8m
1 mark
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Dexter is measuring a box
of chocolates with a ruler n
that measures in

centimetres and millimetres.

He measures it to the nearest cm and
writes the answer 28 cm.

What is the smallest length the box of
chocolates could be?
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Whitney is thinking of a number

Rounded to the nearest whole her
number is 4

Rounded to the nearest tenth her
number is 3.8

Write down at least 4 different numbers
that she could be thinking of.
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A number between 11and 20 with 2
decimal places rounds to the same
number when rounded to one decimal
place and when rounded to the nearest
whole number?

What could this be?
Is there more than one option?
Explain why.
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Write in the missing numbers.

Duney T
505
555
445
454
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Here are four digit cards.
@ '
4 2

Use each digit card once to make the decimal
number nearest to 20

L
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